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Examination Weights and Structure
Remember that the Level 1 exam will consist of two 3-hour sections and that the morning and afternoon sections will be precisely the same in terms of their structure. Page five of your 2004 Level 1 Study Guide states that 15 percent will be ethics, 10 percent will be economics, 12 percent will be quantitative methods, 28 percent will be accounting and corporate finance, 30 percent will be asset valuation, and 5 percent will be portfolio management. These weights will apply to both the morning and afternoon sessions. Also, all ethics questions in the morning will be asked in sequence, followed by the quantitative methods questions, then the economics, and so forth. This process will be repeated in the afternoon.
Candidates are always looking to maximize their study effort. When focusing your study, look at the ratio of examination points to Learning Outcome Statements (LOS). The area with the most points per LOS is ethics, and the area with the least points per LOS is debt securities. Know the basics of the debt securities material, but don’t spend a month trying to figure out every last detail.



Ethics Study Tips – Study Session 1

Ethics is the key to your success on the exam. Although you can fail ethics and still pass the exam, I wouldn’t recommend it. Ethics is worth 15 percent! Hence, you should make ethics a top priority. Study the details—the ethics questions can be tricky, and little details can trip you up. Be prepared.

In addition to starting early, study the ethics material more than once. Ethics is one of the keys to passing the exam. It would be optimal if you could study ethics in January and once again in May.
General Tips
Definitely know the concepts behind the Code and Standards, but do not neglect the details, no matter how insignificant they may seem. For example, you may know that you should tell your supervisor that you are obligated to abide by the Code and Standards, but knowing if you must inform your supervisor verbally or in writing could be the difference between a right and a wrong answer on exam day. (The answer is in writing, by the way). Focus on key words: “in writing,” “may” versus “must,” etc.

Standards of Practice Handbook
We recommend that you buy and read the original Standards of Practice Handbook. Although we are very proud of our summaries of the ethics material, there are two reasons why we recommend that you buy the original Standards of Practice Handbook. (1) You are a CFA® candidate. As such, you have pledged to abide by the AIMR® Standards. (2) The ethics questions on the actual exam can be an exercise in minutia. You will be much better off if you read both our summaries of the Standards and the original Handbook.

Code and Standards
Together, the Code and Standards is more than 85 percent of the material asked in the ethics portion of the exam. Questions about the Code and Standards will most likely be application questions. You will most likely be given a situation and asked to identify whether or not a violation occurs, what the violation is, or what the appropriate course of action should be.

Global Investment Performance Standards (GIPS)®
GIPS are also included in the ethics section. In this area, you should focus on the objectives, key characteristics, and the five main components of the GIPS standards. 



Quantitative Methods Study Tips - Study Session 2 & 3
DeFusco et al., Chapter 1
You must know all time value of money (TVM) computations from Chapter 1, as TVM computations will definitely be on your test. Understanding the TVM material is essential for success not only on the quantitative methods material, but also many other sections of the Level 1 exam. You must also ensure your proficiency with either the TI BAII Plus® or HP 12C® financial calculators. Use our free calculator tutorial if you need additional help with your calculator.
DeFusco et al., Chapter 3
Computations of holding period returns, arithmetic and geometric means, the median, and mode are critical. The coefficient of variation and Sharpe measure are also important. Standard deviation and variance computations may make an appearance on the exam.
DeFusco et al., Chapter 4
Most people absolutely HATE probability theory. At a minimum, you should understand the multiplication and addition rules, joint probability, and the total probability rule. The much more critical aspects of the chapter are the understanding of probabilistic variance, standard deviation, and covariance computations and the relationship between the covariance and correlation coefficient. The correlation coefficient plays an extremely important role in investment theory. Finally, it is my opinion that the most important counting rule is the “combination”, or binomial formula (because it is used in the binomial distribution computations in Chapter 5).
DeFusco et al., Chapter 5
The normal distribution is very important here. Do not enter the exam room without an understanding (both conceptually and computationally) of z-scores, confidence intervals, and the computation of probabilities. You should definitely be able to look up probabilities in a normal table based on computed z-scores. Computations using the binomial formula are also possible, and look for a question on Roy’s safety-first criterion (SFRatio). Notice the similarity between the Sharpe ratio and the SFRatio (you want to pick the portfolio with the highest Sharpe and SFRatios).
DeFusco et al., Chapter 6 – Samples and Estimates
I know it doesn’t look like it at first glance, but the central limit theorem (CLT) is the crux of what is happening in the quant material. The CLT says that if you draw n samples from a population and compute the sample means for each of the n samples, the resulting distribution of sample means will be approximately normally distributed (assuming that n is a big number). The reason this is so important is that we can use the properties of the normal distribution to develop confidence intervals around the sample mean irrespective of whether the underlying population is normally distributed. Hence, the really important information from this chapter includes the computation of the standard error, confidence intervals, and issues relating to sample size. Remember that if the sample size is small (i.e., the number of sample means is small), we cannot use the normal distribution and must use the t-distribution to create confidence intervals instead.
DeFusco et al., Chapter 7 – Hypothesis Testing
Traditionally, hypothesis testing has not been a big part of the Level 1 exam. However, you should definitely be able to look up critical values of the t-statistic or z-statistic in the tables and compare these critical values to the computed values. Basically, you use the z-statistic when the sample size is large and the t-statistic when the sample size is small (a sample size is typically considered small if the number of observations is less than 30). Remember that in a hypothesis test, you reject the null hypothesis when the absolute value of the computed test statistic exceeds its critical value at a given level of significance. As the significance level of the test falls, it becomes more difficult to reject the null hypothesis because the critical value of the test statistic rises (recall that as the significance level falls, the confidence level rises—in fact, significance = 1 – confidence).
DeFusco et al., Chapter 8 – Regression Analysis
Regression analysis is a HUGE part of the Level 2 and 3 examinations. At Level 1, all you need to worry about are the basics of simple linear regression (one independent variable). Correlation, R-squared, and the standard error of the estimate (SEE) are highly interrelated. As the correlation between the independent and dependent variables rises, the model “fits” the data better and the R-squared will rise. The SEE represents the variability of the data about the regression line and will decline as the goodness of fit rises. Also, remember that the correlation equals the square root of R-squared.
More on Regression
From the ANOVA table, the sum of square regression (SSR) plus sum of square error (SSE) equals the sum of square total (SST). Hence, the R-square is SSR/SST. The F-statistic is also a measure of model fit and measures whether or not all the regression coefficients as a whole are different from zero. Since at Level 1 we are only concerned about simple linear regression with one independent variable, the use of the F-statistic is somewhat unnecessary because it is equal to the square of the t-statistic of the independent variable’s coefficient. For the exam, definitely know how to assess the statistical significance of the independent variable by computing the t-statistic and be able to compare this to the critical t-statistic (with n – 2 df). Also, given this critical value of the t-statistic, be able to compute a confidence interval for both the forecast value of the dependent variable and the independent variable’s slope coefficient. Remember, the output from a simple linear regression is nothing more than a straight line (intercept and slope coefficient). You should definitely be able to forecast the dependent variable given a forecast of the independent variable.

This is simply:
forecast dependent variable = intercept + (slope)(independent variable forecast).



Economics Study Tips - Study Session 4, 5 & 6
Study Sessions 4 and 5, respectively. Remember that economics will be 10 percent of your exam and will cover three study sessions. (The third session, Study Session 6, is the topic for next week’s tip.) Also, AIMR® is most likely to distribute economics questions evenly across all three of these sessions. Relative to the international economics material in Study Session 6, you will likely find that the macro and micro material in Study Sessions 4 and 5 tend to be a little easier to grasp.
Preliminary Readings
You don’t need to worry too much about the preliminary readings for Study Sessions 4 and 5 as long as you know how to compute inflation rates, and understand the expenditures multiplier, the marginal propensity to consume, and the definition of gross domestic product (GDP).
Study Session 4: Macroeconomics
The unfortunate thing about macroeconomics on your exam is that many of the questions will focus on the effects of a change in an economic event on key economic variables. For example, you may be asked about the effects of fiscal policy on aggregate demand or supply. Another example would be the effects of a change in monetary policy (expansion or contraction) on variables such as interest rates and inflation. Other key macro concepts include reserve ratios and the deposit expansion multiplier. You should understand the basics of the Keynesian, crowding out, new classical, and supply-side models.
Gwartney et al., Chapter 12
One topic that is ripe for questions in this reading is the impact of expansionary and restrictive fiscal policies based on each of the main economic models. Know what each model is about and what the effects are of a change in policy according to each model.
Gwartney et al., Chapter 13
The important material in this reading revolves around the tools that the Federal Reserve has at its disposal to implement monetary policy: required reserve ratio, potential deposit expansion multiplier, and actual deposit expansion multiplier. Know what these tools are and how they are used.
Gwartney et al., Chapter 14
You should be able to identify the determinants of the demand for and supply of money. Know how to apply expansionary monetary policy effects and reverse the arguments for restrictive monetary policy effects. Also, you should know the quantity theory of money and how it relates to the velocity of money.
Gwartney et al., Chapter 15
The key concept in this chapter is how individuals form expectations and how these expectations impact economic policy. Be able to distinguish between rational and adaptive expectations. Also, know about the pre- and post-1970s Phillips Curve and how the curve ties into adaptive and rational expectations.
Study Session 5: Microeconomics
Key concepts in Study Session 5 include the elasticity of demand, economies of scale, and the difference between pure competition, monopolistic competition, oligopoly, and monopoly.
Gwartney et al., Chapter 19
Expect a question, possibly involving a calculation, about price elasticity of demand, which refers to the change in the quantity of a good demanded in response to a change in price.
Gwartney et al., Chapter 20
The thrust of this reading is the application of three key concepts related to costs: (1) explicit versus implicit costs, (2) economic versus accounting profit, and (3) short- and long-run costs in production. Knowing the definitions of various terms related to costs should be your main learning objective for this topic.
GSS Chapter 21, 22, and 23
The concepts related to price takers, price searcher markets with low entry barriers, and price searcher markets with high entry barriers can be combined as they are all similar. There are many cost curves and demand curves, but the main point of all three chapters can be summed up with one phrase: “Produce at the level where marginal revenue equals marginal cost.” Know what this means!
Gwartney et al., Chapter 24
The supply and demand for productive resources is a study area that was recently added to the curriculum, giving it a high likelihood for potential questions. The key concepts to learn here are the marginal revenue product of a resource and how prices for resources are determined in a market economy. Understand and know how to work with these concepts.
Study Session 6: International Economics
As I mentioned last week, the three economics sessions will comprise 10 percent of your exam, and AIMR® will likely equally distribute questions among these three sessions. On exam day, you will probably feel that most of the questions came from the international economics material in Study Session 6. I say this because the relative difficulty of the foreign exchange questions will make it seem like this area carried a disproportionate weight.
Your major objective here is to understand the basics of trade restrictions and tariffs, the balance of payments accounts, how a current account deficit can affect an economy, and how to work through foreign currency questions.
Gwartney et al., Chapter 17
The most important concept to learn when studying the benefits of international trade is the law of comparative advantage because it lays the foundation for why international trade occurs. The law of comparative advantage states that trading partners are both better off if they specialize in the production of goods for which they are the low-opportunity cost producer and trade for those goods for which they are the high-opportunity cost producer. Know what this means. Also, you should understand the impact of trade restrictions on domestic producers, governments, and consumers.
Solnik and McLeavey, Chapter 1
Painful as it may be, you are virtually guaranteed to see foreign currency questions, so it is a topic worth spending some time on. Definitely be able to make computations using foreign exchange rates. Beware—the “foreign currency” may actually be the U.S. dollar, meaning that you should read the question carefully. Also, know how bid-ask spreads are used in foreign currency problems. Always ask yourself; who’s buying and who’s selling? Know how to compute and interpret a forward premium and discount. Also know how to apply the interest rate parity relationship.
Solnik and McLeavey, Chapter 2
There are two main concepts here that are not only prime testable material, but are concepts you need to understand for other areas of the CFA curriculum. These are: (1) the causes and effects of currency appreciation and/or depreciation and (2) balance of payments (BOP) accounting. It is likely that you will be expected to know how monetary and fiscal policy impact balance of payments account components and exchange rates. You should also know the difference between purchasing power and relative purchasing power parity. 


Financial Statement Analysis: Study Session 7-11
Preliminary Readings
The first thing to say is that you can completely disregard the preliminary readings in Study Session 7. They are completely redundant relative to the primary readings for financial statements analysis that have been assigned in Study Sessions 7–10.

White, Sondhi, and Fried, Chapter 2
If you know nothing else from this chapter, understand the material on unusual or infrequent items, discontinued operations, extraordinary items, and accounting changes. This is a topic that many candidates overlook but routinely shows up on the exam (LOS 1.A.g).
Be prepared to show that you understand the basic differences between the percentage-of-completion and completed contract methods of accounting for long-term contracts. The key here is that gross profits are recognized under the percentage-of-completion method prior to the finish date of a long-term project. This recognition of gross profits leads to substantive differences between the financial statements and ratios of companies that use one method or the other. Remember that construction-in-progress and advance billings are NETTED on the financial statements.

White, Sondhi, and Fried, Chapter 3
Cash flows, cash flows, cash flows. It is imperative that you know how to classify transactions as operating, investing, and financing. Remember that ALL dividend and interest cash flows are cash from operations EXCEPT the dividends that the company pays to its shareholders, which are cash from financing. Keep in mind that cash flow is affected by either an income statement account or a change in a balance sheet account. On the balance sheet, decreases in asset accounts or increases in liability and equity accounts represent positive cash flow, whereas increases in asset accounts and decreases in liability and equity accounts represent negative cash flow.

You should also know how to construct cash flow from operations using both the direct and indirect methods. The indirect method is a “bottom up” technique in that you start with the bottom of the income statement and work your way up, whereas the direct method is a “top down” approach where you start with sales and work down through the income statement.
Study Session 8: Financial Statement Analysis
Reilly & Brown, Chapter 10
I’m sure you’re on RATIO OVERLOAD! Some ratios that you MUST know for the exam are: current ratio, receivables and inventory turnover, asset turnover (both total and fixed), all the profit margins (gross, operating, and net), ROE (and the three- and five-component decompositions), ROA, debt-to-equity and debt‑to‑capital, interest coverage, common-size financials, and g = retention × ROE. Certainly, there are others that could show up (such as the cash conversion cycle) but, by far, these are the most critical. 
Kieso and Weygandt, Chapter 17
You MUST know the formula for basic EPS and how to compute the company’s weighted average shares outstanding. The rest of the material builds from this foundation. As you extend to diluted EPS, remember that for convertible bonds add interest × (1 – t) to the numerator and the number of new shares to the denominator; for convertible preferred stock, add the convertible preferred dividends to the numerator and the convertible preferred shares to the denominator. For options, add the net increase in shares to the denominator after adjusting for the ASSUMED repurchase of shares using the “boot” (exercise price × number of option shares). 

Schilit, Chapters 2 and 3
This material is new to the curriculum this year. Know the underlying strategies behind the accounting tricks that management can use to distort financial performance. It is important that you know the difference between conservative and aggressive accounting policies and the impact of these policies on reported earnings. As you are aware, this is a “hot button” issue in financial markets right now.
Study Session 9: Financial Statement Analysis

White, Sondhi, and Fried, Chapter 6
LIFO versus FIFO will definitely be on your exam. I would certainly know the inventory equation (EI = BI + PURCH – COGS) just in case AIMR® asks you for one of its four components and gives you the other three. Remember that in periods of rising prices and stable or increasing unit purchases, LIFO (relative to FIFO) generates higher COGS, lower profits, lower taxes, higher cash flow, and lower inventory balances. Also, understand that the LIFO reserve represents taxes not paid and profits not recognized. You add the LIFO reserve to LIFO inventory balances to get FIFO inventory. 

White, Sondhi, and Fried, Chapter 7
The decision to capitalize or expense is highly interrelated with the material on leases and off-balance-sheet debt in Study Session 10. Remember that when you capitalize an expenditure, leverage ratios will be lower, cash from operations will be higher (because the effect on CF is shifted to CFI), and income variability will be lower (because the expense is recognized over time rather than hitting the income statement completely in the current period). 

White, Sondhi, and Fried, Chapter 8
Don’t walk into the exam without knowing the formula for straight-line depreciation and the effect of straight-line versus accelerated depreciation methods on financial statements. This will be a key component of the material on deferred taxes in Study Session 10, so a complete understanding of accelerated versus straight-line will be helpful later on. Memorize the formulas for average age and average useful life. Also, know the recoverability test for the treatment of an impairment and how impairment affects the financial statements (memorize the table at the top of page 295 in Book 3). 

Session 10: Financial Statement Analysis 

White, Sondhi, and Fried, Chapter 9
How about one big ARGHHH for taxes. Many candidates try to forget about taxes and hope they don’t show up on the exam. Unfortunately, this is not prudent. I think that everyone should understand: (1) how deferred tax assets and liabilities are generated, (2) the definition of the liability method, and (3) that under the liability method a change in the tax rate alters the balance of the deferred tax accounts and that this change flows to the income statement through the tax expense account. Definitely know that deferred tax liabilities are generated through the use of accelerated depreciation methods for tax purposes and straight-line for financial reporting (expenses on the tax statements exceed expenses on the financial statements). Deferred tax assets are created when expenses on the tax statements are less than the expense that is shown on the financial statements—warranties are the typical example. 
White, Sondhi, and Fried, Chapter 10
Bond discounts and premiums will encompass a couple of questions on your test. The key to this material is understanding that the effective rate (or market rate of interest at the time of bond issuance) is used to compute interest expense. Hence, interest expense on the income statement is composed of two components: cash coupon payments to bondholders plus (minus) the amortization of bond discounts (premiums). The amortization of this discount or premium is a non-cash transaction. Know how to create a basic amortization schedule. Also note that LOS 1.B.e has been deleted from this assignment. 

White, Sondhi, and Fried, Chapter 11
Memorize the four factors that are used to determine whether or not a lease is capitalized. Know that with a capital lease, (1) the present value of the lease payments is posted to long-term assets and is also a long-term liability, (2) the lease payment is split between interest expense (CFO) and theoretical principal repayment (CFF), and (3) since interest expense is higher early in the life of the lease, total expense (interest expense plus depreciation) will be higher when compared to that of an operating lease. 



Study Session 11: Corporate Finance

You should be aware that the financial statement analysis and corporate finance section of the exam represents 28 percent of the total exam points. AIMR® has not directly stated how they will spread the questions across Study Sessions 7-11, but some of them will show up in the area of corporate finance. Look for a minimum of six and a maximum of nine questions on corporate finance in both the morning and afternoon sessions. 

Brigham and Houston, Chapter 1
In the general area of financial management, there is one topic that could generate at most one question on your exam. That is, memorize the four mechanisms used to motivate managers to act in the best interests of shareholders. 

Brigham and Houston, Chapter 9
Do not walk into the exam without knowing how to compute the WACC and each of its component costs. In addition, the MCC schedule is a possibility. Remember that the marginal cost of capital is nothing more than the WACC adjusted for the higher cost of funds that result from raising additional capital in either the debt or equity markets. Memorize the formula for the retained earnings breakpoint on page 23 of Book 4. 
As I mentioned last week, the financial statement analysis and corporate finance sections of the curriculum represent 28 percent of the total exam points. Even though AIMR® has not directly stated how they will spread these questions across sessions 7-11, you can be sure that some of them will show up in the area of corporate finance. So, again, look for six to nine questions on corporate finance in both the morning and afternoon sessions.

Brigham and Houston, Chapter 10
Payback period, NPV, and IRR are important capital budgeting tools. Know the decision rules and calculations for each method. Also understand that results provided by NPV and IRR for mutually exclusive projects may conflict. Remember that NPV always wins and provides you with the correct accept/reject decision. If you have a limited amount of time to devote to corporate finance, make sure that you understand the material on the cost of capital and capital budgeting.

Brigham and Houston, Chapter 11
Armed with an understanding of capital budgeting tools, you are now ready to apply the NPV and IRR concepts. You should know the difference between an expansion project and a replacement project and be able to compute the net cash flow for each period based on the formulas used in the example on pages 53 and 54 of Book 4.

Brigham and Houston, Chapter 12
Scenario analysis material is just a rehash of the probabilistic expected value and variance concepts that you learned in Study Session 2 (quant). Know how to compute the required rate of return using the security market line (SML) and understand the difference between the SML beta and an accounting beta for individual projects.

Brigham and Houston, Chapter 13
This is where things really get hairy and many candidates will need to make a decision on how deeply they want to delve into complex capital budgeting applications. It’s not that the concepts are overly difficult; it’s just that there are a ton of formulas to memorize and the “payoff” for all that work could be relatively low. (Remember, there will be a maximum of 18 questions on corporate finance and eight assignments in the session—for an average of two questions per assignment.) If you do decide to give this material your all, memorize the formula for the breakeven point on page 86 in Book 4. Also, an easy way to memorize the operating and financial leverage formulas is to remember that operating income is EBIT and the degree of operating leverage measures the percentage change in EBIT relative to the percentage change in sales. Since the effects of financing decisions are not in EBIT but are instead shown in net income, it is relatively easy to remember that the degree of financial leverage is expressed as the percentage change in EPS relative to the percentage change in EBIT. Finally, all CFA candidates should know the basics of the Modigliani and Miller capital structure irrelevance proposition.

Brigham and Houston, Chapter 14
Know Miller and Modigliani’s dividend irrelevance theorem, bird-in-the-hand theory, information signaling, and the clientele effect as they relate to the payment of dividends. In addition, try to memorize some of the empirical evidence relating to stock splits and the advantages and disadvantages of share repurchases as an alternative to cash dividends.

DeFusco, et al, Chapter 2
Again, capital budgeting tools are important, but relatively straightforward, concepts that you should know for the exam.


Portfolio Management: Study Session 12
Five percent of the Level 1 exam is allocated to portfolio management, representing only 12 questions—6 questions in each of the morning and afternoon sections. Regardless of its relatively low weighting in the overall exam, you should NOT treat the portfolio management material lightly. Portfolio management is, for the most part, straightforward, so you should be able to get most of the points in this area.

Reilly and Brown, Chapter 1
Memorize the formulas for the nominal and real risk-free rate of interest in the middle of page 137 of Book 4. Remember that the nominal rate is also approximately equal to the real rate plus the inflation premium. Note that you can expand this relationship to include a risk premium. You can be assured that you will see some type of question on the SML on the Level 1 exam. Make sure you memorize the formula for the SML and can use it to compute the required return on an asset. Finally, you should understand that the slope of the SML is the risk premium on the market (Rmkt – RFR). Many candidates get confused and think that beta is the slope of the line. Once you understand this, it becomes clear that the slope of the SML rises or falls depending on changes in the market risk premium. Alternatively, changes in inflation or changes in the nominal risk-free rate of interest affect the intercept of the SML.

Reilly and Brown, Chapter 2
Investment policy statements are very important to your success as a CFA candidate. Granted that this is primarily a Level 3 concept, don’t give up these easy points on investment policy from this material. Every policy statement consists of two primary components: objectives and constraints. The two objectives are risk and return. The five constraints are time horizon, liquidity, taxes, legal/regulatory, and unique needs. Memorize this generic policy statement structure.
Reilly and Brown, Chapter 7
This introductory portfolio management material is mostly a review of the statistics material covered in Study Sessions 2 and 3. However, the following list includes statistical issues that are likely to be addressed in the portfolio management questions on the exam.
· Understand indifference curves. Note that a given individual’s indifference curves can never cross and there are an infinite number of indifference curves in the risk/return space for that person. Remember that risk is considered to be an “economic bad,” which means that indifference curves bend away from the risk axis. It’s always the tangency between your highest indifference curve and the investment opportunity set (Markowitz frontier) that indicates your preferred risky investment portfolio.
· The most important computations in the session are on pages 163–167 in Book 4. Know how to compute the correlation coefficient given covariance and the standard deviations of each security. Also, be able to solve this formula for any one of its components given the other three. It is also highly likely that you will be required to compute the expected return and variance of a two-stock portfolio. A common AIMR® trick is to ask for standard deviation, which requires you to take the square root of variance when you’re done with the variance computation.
· Understand the role of correlation as it relates to diversification. As correlation falls, more diversification benefits are possible. Note that the curve in Figure 9 on page 171 represents all possible combinations of the two assets shown in the graph.
· Finally, you should know that the Markowitz efficient frontier represents the set of portfolios that will give you the highest return for each level of risk. Note that the risk-free asset has not been considered in the Markowitz frontier. Only risky assets go into the construction of this curve.

Reilly and Brown, Chapter 8
This is where the rubber starts to meet the road in terms of the complexity of the portfolio management material.
· The crux of this material is to show what happens to the Markowitz frontier when we add the risk-free asset to the mix. The first thing we note is that when we combine the risk-free asset with any arbitrary risky asset, we get a straight line. And, the line that is tangent to the efficient frontier is the Capital Market Line (CML). The CML is the best possible line resulting from combinations of the risk-free asset and portfolios on the efficient frontier because it has the highest slope (you have maximized excess return per unit of risk). The cool thing about the CML is that it tells us that all investors will choose some mix between the market portfolio and the risk-free asset. Why? Because each investor’s highest indifference curve will have its tangency point somewhere along the CML.
· The preceding argument shows us that the only portfolio that really matters is the market portfolio. Hence, all risk should be measured relative to the market. This is how we get beta. Beta measures the risk of an individual security or portfolio relative to the market portfolio and tells us that only systematic risk matters. Since we can diversify away all non-systematic risk, investors should only be compensated for systematic risk (beta risk).
· Definitely understand that the slope of the CML is the Sharpe ratio and that the slope of the SML is the risk premium on the market—this is the most important distinguishing feature of the two lines. Also, the CML resides in return/standard deviation space, whereas the SML is constructed in return/beta space.
· The most important aspect of the material is LOS 1.D.h on over- and undervaluation. Definitely know that if a stock plots over the SML that it is undervalued (the stock is expected to return more than its price dictates). If the stock plots under the SML, it is overvalued (return is too low for the given price). 


Securities Markets: Study Session 13
Collectively, Study Sessions 13 through 18 represent 30 percent of your examination. This translates into approximately 5 percent per session. Hence, you can expect approximately 12 questions on securities markets in the morning and 12 in the afternoon. The securities markets session is some of the easiest material in the Level 1 curriculum—know this topic well and get most of these points.

Preliminary Reading, Reilly and Brown, Chapter 3
Normally, I suggest that you not worry about the preliminary assignments. For many of you, this will also be a topic that you can ignore because you know the basics of the various financial instruments that are available to investors. However, if you’re at all rusty or unsure about any of these financial instruments, review this material. And, by the way, memorize the equivalent taxable rate formula on page 214 of Book 4.

Reilly and Brown, Chapter 4
Endless minutiae. Definitely know the procedures and technical aspects of short sales. Know about margin requirements and the leverage effects of buying securities using margin. Also, memorize the formulas on page 230 of Book 4 that relate to the price at which an investor would receive a margin call.

Reilly and Brown, Chapter 5
It’s pretty important that you know the differences between and biases of the three types of stock indexes (price-weighted, value-weighted, and equal-weighted). Simple computations may also be required. Remember that the Value Line Composite Average is an equal-weighted index that uses the geometric average (this is a piece of trivia that sometimes shows up on the exam).

Reilly and Brown, Chapter 6
The Efficient Markets Hypothesis will definitely be on your exam. Know the descriptions of the three forms of market efficiency and memorize a few of the academic tests that have been used to prove or disprove a particular form of efficiency. Don’t drive yourself nuts trying to remember ALL of the tests, just pick a couple from each, commit them to memory and hope that you picked the right ones.
In a nutshell, (1) autocorrelation tests and filter rules show that the weak form of efficiency tends to hold (i.e., you can’t make abnormal profits using the pattern of historical stock prices); (2) the results of time series tests tend not to support the semi-strong form of efficiency (i.e., calendar studies and earnings surprise studies show that you can make long-run abnormal profits using publicly available information); (3) the results of cross-sectional tests of the semi-strong form also tend not to support the theory (i.e., the P/E, size effect, neglected firm effect, and BV/MV effect all show that you can make long-term abnormal profits using publicly available information); (4) the results of event studies tend to support the semi-strong form (i.e., prices adjust quickly to news of stock splits and IPOs); and (5) the strong form does not hold—you can make money through insider trading—although there are legal consequences of doing so.


Equity Investments: Study Session 14 
This week’s tips are on the equity investments material in Study Session 14. Remember that asset valuation (Study Sessions 13–18) represents 30 percent of the exam. This translates into roughly 5 percent per session. Hence, there will be about 12 questions on equity investments in the morning and 12 in the afternoon. The Study Session 14 material is relatively easy, so you should know this topic well and get most of these points. 

Reilly and Brown, Chapter 11
This is the area that quite a few questions will come from. This is the HEART of Study Session 14! Know and be able to apply the valuation formulas for (1) preferred stock, (2) the constant growth dividend discount model, and (3) the temporary supernormal growth model. Remember that in the temporary supernormal growth model, the terminal value Pn is computed using Dn+1 over k – g and that this value is discounted to the present over n periods. Two common mistakes that candidates make are to forget to discount the terminal value or to discount it over n + 1 periods—don’t fall into these traps. Three more things: (1) know the intrinsic P/E ratio at the top of page 283 of Book 4, (2) understand how each of its components (dividend payout, k, and g) are computed, and (3) know how to compute the other measures of relative value (P/BV, P/CF, and P/S). 

Reilly and Brown, Chapters 13, 14, and 15
Lots of redundancy here. The same P/E methodology is used here to compute the value of a stock index, industry index, and individual stock. Know this methodology. I would also suggest memorizing the formula for the EPS at the bottom of page 314 of Book 4. Remember that to find value, compute the intrinsic P/E ratio for the index, industry, or stock and multiply by expected earnings. Some unique information in the area of industry analysis that you should memorize includes the stages of the industrial life cycle (page 315 of Book 4) and Porter’s five forces (page 316 of Book 4). 

Reilly and Brown, Chapter 16
More minutiae! I would know the difference between technical analysis and fundamental analysis and that success when using technical analysis depends on market inefficiency of the weak form. I would also know the difference between a contrarian and smart money investor and randomly choose one or two examples of each to memorize. Again, you’ll drive yourself nuts if you try to memorize all the trading rules and market indicators. 

Note: When I’m deciding what to commit to memory for an exam like this, I try to maximize the following ratio: 

points earned / brain cells burned

Clearly, memorizing ALL of the technical indicators will not maximize this ratio! 

Stowe et al. 
This is a new reading assignment this year, so it would not surprise me if there was a question from this material just to see if you read it. Know the advantages and disadvantages of each of the price multiples and be able to calculate them given the relevant information. 

DeFusco et al., Chapter 2
The material here is highly redundant and serves to provide additional practice and support for the other chapters in the session. However, there is ONE piece of information here to draw your attention to: be able to compute the dollar-weighted and time-weighted rates of return.



Debt Investments: Study Session 15-16
Study Session 15: Debt Investments - Basic Concepts

Fabozzi, Chapter 1
Endless minutiae…this assignment is just filled with it! The following is a list of the items that I think everyone should know:

· Define a bond indenture and be able to distinguish between affirmative and negative bond covenants. 

· Be able to price a zero-coupon bond. Remember that market convention is to price a zero using a semiannual pay coupon assumption, even though there are no coupons. 

· Know the structure of a basic floating-rate bond and memorize the coupon formula at the top of page 20 of Book 5. Also know the structure and coupon formulas for the deleveraged floater and the inverse floater. You’ll drive yourself nuts trying to remember the nine different types of floaters, so it is my recommendation that you focus on these three. 

· Be aware that AIMR® frequently asks about the difference between a nonrefundable bond and a noncallable bond. This can be a tricky question, so get it sorted out before exam day. 

· Understand the difference between a repo and a reverse repo. 

Fabozzi, Chapter 2
There are TEN types of bond risks to know in this assignment. Here are the items that I think are most important:

· Of the ten risks, these are the ones you should focus most of your attention on: interest rate risk, call and prepayment risk, yield curve risk, and reinvestment rate risk. 

· The relationship between coupon rate, market yield, and bond price, as shown at the top of page 36 in Book 5. I know this is basic, but if you don’t know this, you’re sunk in many different areas of the curriculum. 

· The material on the price-yield behavioral differences between a straight bond and a callable bond are absolutely critical. Know the formula for the value of a callable bond and understand the logic and theory behind Figure 1 on page 38 of Book 5. LOS c, d, and e form the basis for this material. 

· An understanding of call and prepayment risk is very important to your success throughout the CFA program. Embedded options are a big deal at Level 2, so you’ll save yourself a lot of future anxiety if you spend the time now to understand them. 

· Regarding credit risk, DO NOT memorize all the gory details of Figure 3 on page 48. Focus instead on the difference between junk and investment grade debt. 

Fabozzi, Chapter 3
More endless minutia. Definitely know the:

· Formula for the coupon payment on a Treasury Inflation Protection Security (TIPS). 

· Structure of Mortgage-Backed Securities (MBSs) and how CMOs are derived from generic MBSs. Remember that MBSs have embedded options and that the homeowner owns the option to prepay the principal of the underlying loan at anytime without penalty. These are amortizing securities, so understand the process of amortization as it applies to MBSs and how this amortization affects the potential cash flows to MBS investors. 

· Four Cs of credit ratings. 

· Difference between a foreign bond, Eurobond, global bond, and sovereign debt. 

Fabozzi, Chapter 4
Focus on knowing that:

· A yield spread is the difference between the yields of two bonds of different credit quality with the same maturity. It is important to note that the yield spread is indeed maturity-specific. For example, the yield spread between 10-year AAA corporate bonds and 10-year Treasuries could be significantly different than the yield spread between 2-year AAA corporates and 2-year Treasuries. 

· Remember that a yield curve is the set of yields for one type of security over its maturity range. Hence, you can have a Treasury yield curve, a AAA corporate yield curve, a BBB corporate yield curve, and so on. 

· There is a subtle difference between a yield curve and the term structure of interest rates. The term structure uses the yields on risk-free zero-coupon bonds (also known as spot rates) to show the relationship between yield and maturity. 

· There are two types of municipal bonds (GO and revenue). Memorize the formulas for the taxable-equivalent yield and after-tax yield on page 98 of Book 5. 

Reilly & Brown, Chapter 18
There isn’t much to say about this assignment except to note that you should understand the descriptions of CMOs and asset-backed bonds on pages 107–108 of Book 5. 

Study Session 16: Debt Investments – Analysis and Valuation
Fabozzi, Chapter 5
You should know how to use your calculator to compute the value of a zero-coupon and/or a coupon-bearing bond using annual and semiannual compounding. You should also understand the price/yield relationships illustrated in Figures 5 and 6 on page 122 of Book 5. Also important to your success on the exam is an understanding of the relationship between premium, discount, and par bonds as illustrated in Figure 7 on page 124 of Book 5.

Fabozzi, Chapter 6
You should know the:

· Formula for the current yield.

· YTM, its limitations, and how it is computed.

· YTC and YTP. Be able to compute each measure by replacing the maturity of the bond with the call or put date and replacing the par value with the call or put price.

· BEY and AEY calculations. 

In my opinion, the big deal in this assignment is the computation of spot rates and forward rates. I would know how to: (1) compute a theoretical spot rate given a coupon bond, (2) compute forward rates given spot rates, and (3) compute spot rates given forward rates. Remember that an n-period spot rate is the geometric average of the n 1-period forward rates that precede time n. Remember that the 1-period forward rate starting today (1f0) is the same thing as the 1-year spot rate (S1). Also, remember that the 1-year forward rate n years from today is expressed as: 1fn = [(1 + Sn+1)n+1 / (1 + Sn)n] – 1.
Finally, way too many candidates get all upset over the OAS at Level 1. If the OAS is keeping you up at night—LET IT GO! At a minimum, remember that the OAS is a measure of the pure credit spread of a bond over Treasuries, because the effects of embedded options on the spread have been removed. When viewed this way, the OAS is used to compare bonds of similar maturities but with different types of embedded options. Buy bonds with large OAS (low relative price). Clearly this is an oversimplification, but it is a useful way to think of things for the exam.

Fabozzi, Chapter 7
Duration and convexity are the key components of debt securities. Learn this material now and you will have a jump start on Levels 2 and 3.
Remember that if a bond exhibits positive convexity, price rises at an increasing rate as yields fall. For a bond with negative convexity, price rises at a decreasing rate as yields fall. When yields are high, straight bonds and bonds with embedded call options will behave very similarly because the options are out-of-the-money.
Memorize the formulas for duration and convexity on pages 169 and 177 of Book 5, respectively. Remember to use the decimal representation of the change in interest rates in these formulas. Also, memorize the formula for the approximate percentage price change in the middle of page 179 of Book 5. Here, you also have to use the decimal representation of the change in interest rates in the computation and then multiply the entire result by 100 to get the percentage change.

Fabozzi
This is a new assignment at Level 1, although this topic has always been included to some extent. You should be able to explain and interpret the different shapes of the yield curve using the various theories for the term structure of interest rates. Know the differences between the Pure Expectations Theory, the Liquidity Preference Theory, the Preferred Habitat Theory, and the Market Segmentation Theory.

DeFusco, et al., Chapter 2
In this final debt assignment, you should memorize the formula for the bank discount yield and the money market yield. Please note that the money market yield uses the bank discount yield in its computation. Probably the biggest question that I get from this material is: “Will we have to convert between holding period yield, money market yields, and equivalent annual yields?” My answer for you on this one is: “If you have the brain capacity left after studying all the bond material up to this point, one more relationship isn’t going to kill you.” Luckily, the remainder of the assignment is redundant relative to the other material we’ve discussed.



Study Session 17: Derivative Investments
Study Session 17 (Derivatives) is one of the six study sessions within the 30 percent allocation to asset valuation. As such, we expect there will be approximately six questions on derivatives in the morning and approximately six in the afternoon. This year, a new derivatives text was added to the curriculum, although the coverage is much the same. I have gone through each assigned topic and picked out the specific items that I believe to have a chance of appearing on your exam. Based on what I know about AIMR®’s past practice, derivatives should be tested in a straightforward manner, but you better know the basics!

Chance, Chapter 1
There is not too much to be excited about in this introductory material. Know the difference between a forward commitment and a contingent claim.

Chance, Chapter 2
You should know the different types of forward contracts and be able to calculate the gain/loss from a forward position. In particular, you should know how to calculate the payoff from a forward rate agreement and an equity index forward contract. Also, be able to define LIBOR and Euribor and compute loan payments based on these rates. Remember, LIBOR and Euribor both use a 360-day year convention.

Chance, Chapter 3
This is the first year in recent history that futures and forward contracts were separate assignments. Nevertheless, you should know the differences between these two types of contracts. Additionally, you should be able to work problems involving futures margins (initial, maintenance, and variation), which include the concept of marking-to-market. Specifically, you should be able to compute the futures price at which a trader will receive a margin call. Other important futures concepts include:

· For each buyer, there is a seller, and one contract has been executed between them. Remember that the clearinghouse stands between these two parties and has essentially “split” the contract into its component parts. Hence, the buyer and seller are not directly dependent on one another—the clearinghouse takes that risk.

· A futures contract does not cost anything to enter into (unlike the purchase of an option contract via the payment of the premium). However, futures market participants must post margin.

· There are three ways to close out a futures position: delivery, offsetting trades, and exchange for physicals.

Chance, Chapter 4
From the options material, you should know the following:

· Call options give the owner the right to buy an underlying asset.

· Put options give the owner the right to sell an underlying asset.

· Moneyness and the concept of in-the-money, at-the-money, and out-of-the-money.

· The difference between a European option and an American option is that a European option can only be exercised on the expiration date, whereas an American option can be exercised any time prior to and including the maturity date. Since this represents an “option within an option,” an American option should be worth at least as much as a similar European option.

· Intrinsic value is the amount that an option is in-the-money. Know how to compute the ending intrinsic value of an option for any ending stock price. Notice that intrinsic value and profit are two different things. AIMR® is looking for profit; they want you to take into consideration the premium that was paid by the buyer and received by the seller. For example, suppose that the exercise price of a call option is $50, the premium paid by the buyer was $4, and today’s stock price is $54. The intrinsic value of this option is $4 (= $54 – $50), whereas the profit to the call buyer would be zero ($4 intrinsic value minus the sunk cost of the $4 premium that was paid at the time the option was written).

· The longer the time to expiration, the higher the time value. 

· Interest rate options are similar to forward rate agreements (FRAs) except that the downside loss is limited to the cost of the option. A long FRA payoff is equivalent to a long interest rate call option and a short interest rate put option.

· If two call options are identical in all respects except exercise price, the one with the lower exercise price will have the greater value.

· If two put options are identical in all respects except exercise price, the one with the higher exercise price will have the greater value.

· A fiduciary call is a long risk-free bond and a long call with an exercise price equal to the face value of the bond.

· A protective put is a long stock and long put on the stock

· Put-call parity says that the value of a fiduciary call equals the value of a protective put.

· Arbitrage profits may arise if put-call parity does not hold. Be able to identify when arbitrage is possible and calculate the potential profit.

Chance, Chapter 5
I’ve had more than a few candidates ask me if they can just skip the swap material (swap-o-phobia). My recommendation is to know at least enough to be dangerous, so that you can talk somewhat reasonably intelligently at cocktail parties and get a few points on the exam. Remember that:

· Interest rate swaps are multiperiod agreements where net cash flows exchange hands on each settlement date. These cash flows are based on a notional (hypothetical) principal value in the case of interest rate swaps.

· In a plain-vanilla interest rate swap, you pay fixed and receive floating. The floating rate of interest is typically based on U.S. dollar LIBOR as of the beginning of the settlement period. Hence, at the start of the settlement period, both parties know exactly what that period’s cash flow will be, and the net payment is made at the end of the period.

· There is not a clearinghouse that stands in the middle of swap transactions. Hence, there is counterparty risk associated with swaps.

· There is a formula for the net fixed-rate payment. You can find this formula on the middle of page 289 of Book 5. Note that if this number is positive, the fixed-rate payer owes the net payment to the floating-rate payer. If this number is negative, then the floating rate exceeds the fixed rate and the floating-rate payer makes the net payment.

· Things can get a bit hairier when it comes to currency swaps because there are four ways to construct the cash flows (fixed/fixed, fixed/floating, floating/fixed, and floating/floating), the notional principal value is exchanged, and the cash flows each period are not netted (each counterparty pays its respective cash flow to the other party). 

Chance, Chapter 7
Some of material in the area of risk management and options strategies is relatively complex. Don’t panic. Just focus your attention on the basic concepts that are bulleted below, and you will be prepared to tackle any exam problem that may come up in this area.

· Understand option payoffs as illustrated respectively in Figures 1 and 2 on pages 298 and 299 of Book 5. Pay particular attention to the computation of the breakeven point.

· Know that a covered call consists of owning the underlying stock and writing a call option on that stock. In contrast, a protective put (portfolio insurance) is the combination of a long position in the underlying stock plus a put option that is purchased on that stock. In a covered call position you are short the call option, and in a portfolio insurance setting you are long the put option.

· If AIMR gives you combination option strategies and asks you what the net payoff or profit is for the strategy given a particular ending stock price—do not panic. Instead, think carefully about each individual position that makes up the strategy and compute the payoff or profit individually for each. Then add up your answers to get the payoff or profit for the entire position.



Study Session 18: Alternative Investments

The alternative investments (AI) material in Study Session 18 was significantly revised this year. It now consists of only one assignment and most of the material is non-quantitative and relatively straightforward. It’s been a long haul to get to Study Session 18, you’re tired and anxious, and you might be thinking that you don’t need to take AIs seriously. Remember that asset valuation (Study Sessions 13 – 18) will represent 30 percent of your examination. This translates into roughly 5 percent per session, or approximately six morning and approximately six afternoon questions on alternative investments. These can be easy points. So, don’t let up—don’t forget about Study Session 18!

Solnik and McLeavey, Chapter 8
Alternative investments represent a general class of investment vehicles that falls outside the category of traditional securities, such as stocks and bonds that trade in organized and efficient financial markets. You should be able to distinguish among the different types of AIs. Specifically:

· Know the difference between closed-end and open-end funds and the various fees associated with these investments.

· Be prepared to compute the NAV for a mutual fund.

· Know the pros, cons, and risks associated with exchange traded funds (ETFs).

· Real estate is an important AI. Know the four valuation approaches to real estate investments (cost method, sales comparison method, and income method, and the discounted after-tax cash flow model). Be aware that when computing net operating income for a real estate investment, the relevant taxes to use are property taxes, NOT income taxes.

· Be able to address questions on venture capital and hedge fund investing, and be able to compute the return for these types of AIs. Know that survivorship bias tends to overstate returns and understate risk for hedge funds.

· Know the relationship between distressed securities investing and venture capital.

· Know the characteristics of investments in commodities, commodities derivatives, and commodity linked securities.


Sample Questions
For your enjoyment, I have provided you with five sample questions that focus on the international economics covered in Study Session 6.

· The direct method of foreign exchange quotations:

· quotes the domestic currency per unit of foreign currency: DC/FC. 

· quotes the foreign currency per unit of domestic currency: FC/DC. 

· is used primarily in the U.K., Canada, and the U.S. 

· is used in the interbank market.
· Assume the current spot rates for currency exchange are as follows: Thai baht to USD of 0.02240 THB/USD and Australian dollar (AUD) to Thai baht of 23.89923 AUD/THB. What is the USD/AUD spot cross exchange rate? 

· 0.00094 USD/AUD. 

· 0.53534 USD/AUD. 

· 10.52635 USD/AUD. 

· 1.86796 USD/AUD.
· Given the European terms for the United Arab Emirates dirham (AED) and Kuwaiti dollar (KWD), determine the AED/KWD bid-ask spread.
AED/USD bid ask 0.27226 AED/USD and 0.00003 AED/USD 
KWD/USD bid ask 3.28461 KWD/USD and 0.00162 KWD/USD 

· 12.06291 AED/ KWD and 0.00728 AED/ KWD. 

· 0.08290 AED/ KWD and 0.00005 AED/ KWD. 

· 0.08285 AED/ KWD and 0.00005 AED/ KWD. 

· 0.89437 AED/ KWD and 0.00034 AED/ KWD.
· Assume one-year interest rates are 7.5 percent in the U.S. and 6.0 percent in New Zealand. The current spot exchange rate is 0.55 USD/NZD. If interest rate parity holds, today’s 1-year forward rate (USD/NZD) must be: 

· 0.56675 USD/NZD. 

· 0.54233 USD/NZD. 

· 0.55000 USD/NZD. 

· 0.55778 USD/NZD.
· Assume an investor living in Hong Kong can borrow in Hong Kong dollars (HKD) or in U.S. dollars (USD). Given the following information, determine whether an arbitrage opportunity exists. If so, how much would the investor profit by borrowing USD1,000,000 or the equivalent in HKD? (Assume a period of one year and state the profit in domestic currency terms).

	• Spot rate (HKD/USD)
	= 7.77001.

	• Forward rate (HKD/USD)
	= 7.81983.

	• Domestic (Hong Kong) interest rate (%)
	= 6.00000.

	• Foreign (US) interest rate (%)
	= 5.00000.


· An arbitrage opportunity results in a profit of HKD130,509. 

· An arbitrage opportunity results in a profit of HKD25,389. 

· No arbitrage opportunity. 

· An arbitrage opportunity results in a profit of HKD197,274. 
Answers
· The correct answer is A. The direct method of foreign exchange quotations is used for local non-bank public customers and is quoted as DC/FC.
· The correct answer is D. 1.86796 USD/AUD.
The cross rate between USD and AUD is calculated in the following manner:

	Step 1: 
	Multiply the two quotes together (THB will cancel out) to obtain:
AUD/USD: 0.02240 THB/USD × 23.89923 AUD/THB = 0.53534 AUD/USD

	Step 2:
	Take the reciprocal of this result to obtain:
USD/AUD: 1 / 0.53534 AUD/USD = 1.86796 USD/AUD


An alternative calculation method is as follows:

	Step 1: 
	Take the reciprocal of the THB/USD quote:
= 1 / 0.02240 THB/USD = 44.64286 USD/THB

	Step 2:
	Divide this result by the AUD/THB quote:
= 44.64286 USD/THB / 23.89923 AUD/THB = 1.86796 USD/AUD


· The correct answer is C. We recommend using the following “Bid-Ask Matrix Method” to calculate the bid and ask quotes:

	Step 1: 
	Put the bid-ask quotes into a matrix as shown below:

Currency
Bid
Ask
AED

0.27226

0.27229

KWD

3.28461

3.28623



	Step 2:
	"Divide out" the diagonals. (Remember to put AED in the numerator because AED is in the numerator of the quote we are asked to calculate.)

AEDBid / KWD Ask
= 0.27226 AED/USD / 3.28623 KWD/USD 
= 0.08285 AED/KWD
AEDBid / KWD Ask
= 0.27229 AED/USD / 3.28461 KWD/USD
= 0.08290 AED/KWD



	Step 3:
	The lowest number is the bid, and the highest number is the ask.

Bid = 0.08285 AED/KWD
Ask = 0.08290 AED/KWD
(The difference between the bid and ask is 0.00005.)


· The correct answer is D. 0.55778 USD/DM. Interest rate parity is given by:

Forward (DC/FC) = spot (DC/FC){(1 + rdomestic) / (1 + rforeign)}

Forward (DC/FC) = 0.55 USD/DM{(1.075) / (1.06)} = 0.55778 USD/DM
· The correct answer is B. An arbitrage opportunity results in a profit of HKD25,389. Explanation: 

	Step 1: 
	Determine whether an arbitrage opportunity exists.
We can arrange the formula for covered interest rate parity (CIP) to look like:
(1 + rdomestic) – [((1 + rforeign) × ForwardDC/FC) / SpotDC/FC] = 0

Entering the data from above:
(1 + 0.06000) – [((1 + 0.05000) × 7.81983) / 7.77001] = 1.06000 – 1.05673 = 0.00327

Since 0.00327 does not equal 0 we know an arbitrage opportunity exists.

	Step 2:
	Borrow domestic or foreign?
Rule: If the following interest rate parity equation results in (rd – rf) > (forward – spot) / spot, then borrow foreign. If the equation results in (rd – rf) < (forward – spot) / spot, then borrow domestic.

• (rd – rf) = 0.06000 – 0.05000 = 0.01000.

• (forward – spot) / spot = (7.81983 – 7.77001) / 7.77001 = 0.00641.

• 0.01000 > 0.00641, so borrow foreign (here, U.S. dollars).


	Step 3:
	Arbitrage process:

Borrow foreign (amount given in question).
USD1,000,000 

· Convert borrowed funds to domestic.
(USD1,000,000)(7.77001HKD/USD) = HKD7,770,010 

· Invest domestic at domestic interest rate (this is the amount you will have to repay the loan).
(HKD7,770,010)(1 + 0.06000) = HKD8,236,211 

· Calculate loan payoff (foreign currency). (USD1,000,000)(1 + 0.05000) = USD1,050,000 

· Calculate payoff in domestic currency (this is the amount you need to repay).
(USD1,050,000)(7.81983HKD/USD) = HKD8,210,822 

· Calculate arbitrage profit.
HKD8,236,211 – HKD8,210,822 = HKD25,389




Sample Questions
· Session 2 | Reading 1.A | LOS d
Find the future value of the following uneven cash flow stream. Assume end of the year payments. The discount rate is 12%. 

	Yr 1
	-2,000

	Yr 2
	-3,000

	Yr 3
	6,000

	Yr 4
	25,000

	Yr 5
	30,000


A) $65,144.33.
B) $33,004.15. 
C) $36,964.65. 
D) $58,164.58.
· Session 2 | Reading 1.D | LOS m
An airline was concerned about passengers arriving too late at the airport to allow for the additional security measures. Based on a survey of 1,000 passengers, the mean time from arrival at the airport to reaching the boarding gate was 1 hour, 20 minutes, with a standard deviation of 30 minutes. If the airline wants to make sure at the 95 percent confidence level that passengers have sufficient time to catch their flight, how much time ahead of their flight should passengers be advised to arrive at the airport?

A) One hour, fifty minutes.
B) Two hours, ten minutes.
C) Two hours, thirty minutes. 
D) Two hours, forty-five minutes. 
· Session 5 | Reading 2 | LOS f
Consider a bond with the following performance over the past year: 

· Purchase price = $100. 

· Selling price = $98. 

· Annual coupon interest = $6. 

Assume the inflation rate was 4 percent during the year. The nominal rate and real rate of return earned on this bond are: 

A) Nominal rate = 4%, Real rate = 0%. 
B) Nominal rate = -2%, Real rate = -6%. 
C) Nominal rate = 6%, Real rate = 2%. 
D) Nominal rate = 0%, Real rate = 4%. 
· Session 7 | Reading 1.B | LOS d
An analyst has gathered the following information about a company:

	Income Statement 2001

	Sales
	$908

	Expenses
	
	

	     COGS
	$512
	

	     Depreciation
	6
	

	     Selling, General & Admin.
	129
	

	     Interest
	53
	

	          Total expenses
	
	700

	Pre-tax income
	 
	208

	Taxes
	 
	83

	Net income
	 
	$125


	 

	Balance Sheet

	Assets
	2000
	2001

	Cash
	60 
	80 

	Accts. Rec.
	140 
	155 

	Inventories
	47 
	72 

	Fixed Assets
	120 
	160 

	Accum. Dep.
	(29)
	(35)

	Total
	338 
	432 

	 
	 
	 

	Liabilities
	2000
	2001

	Accts Payable
	100 
	75 

	Wages Payable
	80 
	85 

	Bonds
	65 
	80 

	Common Stock
	40 
	70 

	Retained Earnings
	53 
	122 


Note: the dividend payout ratio equals 45 percent.

What is the net increase or decrease in cash?

A) +$15.
B) -$15.
C) +$20.
D) -$20.
· Session 8 | Reading 2 | LOS c
The following data pertains to the Megatron company:

· Net income equals $15,000. 

· 5,000 shares of common stock issued on January 1. 

· 10 percent stock dividend issued on June 1. 

· 1000 shares of common stock were repurchased on July 1. 

· 1000 shares of 10 percent, par $100 preferred stock each convertible into 8 shares of common were outstanding the whole year. 

How many common shares should be used in computing the company’s basic earnings per share (EPS)?

A) 5000.
B) 5500.
C) 4500.
D) 4000.
· Session 9 | Reading 1.B | LOS a
Which of the following statements regarding capitalizing versus expensing costs is FALSE?

A) Cash flow from investing is higher with expensing than capitalization.
B) Total cash flow is higher with capitalization than expensing.
C) Capitalization results in higher profitability in the early years of a firm.
D) Expensing results in higher income variability than capitalization.
· Session 10 | Reading 1.B | LOS a
A firm issues a $5 million zero coupon with a maturity of four years when market rates are 8 percent. Assuming semiannual compounding periods, the total interest on this bond is:

A) $1,200,411.
B) $1,200,000. 
C) $1,346,549.
D) $1,600,000.
· Session 11 | Reading 1.B | LOS d
The following data is regarding the Link Company: 

· A target debt/equity ratio of .5 

· Bonds are currently yielding 10% 

· Link is a constant growth firm that just paid a dividend of $3.00 

· Stock sells for $31.50 per share, and has a growth rate of 5% 

· Marginal tax rate is 40% 
What is Link's after tax cost of capital?

A) 10.5%.
B) 12.5%. 
C) 11.0%. 
D) 12.0%.
· Session 18 | Reading 1.A | LOS c
Which risk is concerned with the covariance of the security’s return with those of the market portfolio?

A) Unsystematic risk. 
B) Total risk. 
C) Fundamental risk. 
D) Systematic risk. 
· Session 13 | Reading 1.A | LOS f
Ellis Nayberg, nuclear physicist, comes back from lunch to a voice mail from Haley Banting, a former college roommate. Banting has a “hot” stock tip – she is recommending the shares of Hudson Bay Holdings, a resort holding company. Based on the following assumptions: 

· The stock is currently trading at $31.00 per share. 

· Estimated growth rate for the next three years is 25%. 

· Beginning in the year 4, the growth rate is expected to decline and stabilize at 8%. 

· The required return for this type of company is estimated at 15%. 

· The dividend in year 1 is estimated at $2.00. 
The stock is undervalued by approximately:

A) $15.70.
B) $2.30.
C) $6.40.
D) $0.00. Haley made a calculation error and the stock is overvalued.
Answers 

· The correct answer is D. 

· N = 4; I/Y = 12; PMT = 0; PV = -2,000; 
CPT FV = -3,147.04. 

· N = 3; I/Y = 12; PMT = 0; PV = -3,000; 
CPT FV = -4,214.78.

· N = 2; I/Y = 12; PMT = 0; PV = 6,000; 
CPT FV = 7,526.40. 

· N = 1; I/Y = 12; PMT = 0; PV = 25,000; 
CPT FV = 28,000.00. 

· N = 0; I/Y = 12; PMT = 0; PV = 30,000; 
CPT FV = 30,000.00. 

· Sum the cash flows: $58,164.58. 
· The correct answer was B. 

We can use standard distribution tables because the sample is so large.

From a table of area under a normally distributed curve, the Z value corresponding to a 95 percent, one-tail test is: 1.65. (We use a one-tailed test because we are not concerned with passengers arriving too early, only arriving too late.)

One hour, twenty minutes + 1.65(30 minutes) = 2 hours, nine and one-half minutes.
· The correct answer is A. 

The nominal rate equals the return earned on the investment. The nominal return equals the sum of capital gains plus interest payment divided by the original purchase price: (98 – 100 + 6)/100 = 4%. The real rate equals the nominal rate minus the inflation rate: 4% - 4% = 0%.
· The correct answer is C. 

There are two ways to approach this problem. The easy way is to just take the difference in cash between the two years: 80 – 60 = $20

The other way is to create a statement of cash flows:

CFO = Net Income (125) – (increase in Accounts Receivable) (15) – (increase in Inventory) (25) + Depreciation (6) – (decrease in Accounts Payable) (25) + (increase in Wages Payable) (5) = $71.

CFI = Fixed assets increased by $40 representing a use of cash = -$40.

CFF = (issuance of Bonds) (15) + (issuance/sale of Common Stock) (30) – Dividends (56) = -$11

Net increase in cash = 71 – 40 –11 = $20.
· The correct answer is A. 

1/1 5,500 shares issued (includes 10% stock dividend on 6/1) x 12 = 66,000

7/1 1,000 shares repurchased x6 months = -6,000 

= 60,000

60,000 shares/12 months = 5,000 average shares
· The correct answer is B. 

Net cash flows are not affected by the choice of either capitalizing or expensing costs.
· The correct answer is C. 

The interest paid on the bond will be the difference between the future value of the bond of $5,000,000 and the proceeds of the bond when it was originally issued.

First find the present value of the bond found by N=8; FV=5,000,000; I=4; PMT=0; CPT PV=-3,653,451. This is the amount of money the bond generated when it was originally issued.

Then take the difference between the $5,000,000 future price and the $3,653,451 from the proceeds = $1,346,549 which is the interest paid on the bond.
· The correct answer is D. 

Use the revised form of the constant growth model to determine the cost of equity. Use algebra to determine the weights for the target capital structure realizing that Debt is 50% of Equity. Substitute 0.5E for D in the formula below.

ks = D1/P0 + growth = (3)(1.05)/(31.50) + .05 = .15 or 15% 

V = debt + equity = .5 + 1 = 1.5 

WACC = (E/V)(ks) + (D/V)(kdebt)(1 - t) 

WACC = (1/1.5)(0.15) + (0.5/1.5)(0.10)(1 - 0.4)
= 0.1 + 0.02 = 0.12 or 12%
· The correct answer was D. 

Systematic risk is the risk of a security when it is considered as part of a well-diversified portfolio. Systematic risk, or beta, measures how the security’s return covaries with the market portfolio.
· The correct answer was C. 

The high “supernormal” growth in the first three years and the decrease in growth thereafter signals that we should use a combination of the multi-period and finite dividend growth models (DDM) to value the stock of Hudson Bay Holdings.

Step 1: Determine the Dividend stream through year 4 

· D1 = $2.00 (given) 

· D2 = D1 (1 + g) = 2.00 * (1.25) = $2.50 

· D3 = D2 (1 + g) = $2.50 * (1.25) = $3.13 

· D4 = D3 (1 + g) = $3.13 * (1.08) = $3.38 
Step 2: Calculate the value of the stock at the end of year 3 (using D4) 

· P3 = D4 / (ke – g) = $3.38 / (0.15 – 0.08) = $48.29 
Step 3: Calculate the PV of each cash flow stream at ke = 15%, and sum the cash flows. Note: We suggest you clear the financial calculator memory registers before calculating the value. The present value of:

· D1 = 1.74 = 2.00 / (1.15)1, or FV = -2.00, N=1, I/Y = 15, PV = 1.74 

· D2 = 1.89 = 2.50 / (1.15)2, or FV = -2.50, N=2, I/Y = 15, PV = 1.89 

· D3 = 2.06 = 3.13 / (1.15)3, or FV = -3.13, N=3, I/Y = 15, PV = 2.06 

· P3 = 31.75 = 48.29 / (1.15)3, or FV = -48.29, N=3, I/Y = 15, PV = 31.75 

· Sum of cash flows = 37.44. 

· Thus, the stock is undervalued by 37.44 – 31.00 = approximately 6.40. 

Note: Future values are entered in a financial calculator as negatives to ensure that the PV result is positive. It does not mean that the cash flows are negative. Also, your calculations may differ slightly due to rounding. Remember that the question asks you to select the closest answer
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